> restart;

{} # Answers to Quiz 5 problem 3

> fi=int(cos(xA2),x=0..t);
g:=int(sin(xA2) ,x=0..t);
df:=diff(f,t);
dg:=diff(g,t);

1 A2t
fi=— \/E \/; FresnelC| ——
2 A
g:::-l \/5 «/;; FresnelS 3[2—5
2 i

df = cos(tz)

dg := sin(tz)

_S plot([f,g,t=0..Pi],scaling=constrained, numpoints=200);
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> L:=int(sqrt(dfA2+dgA2),t=0..Pi);
L:=1
> plot3d([f,cos(theta)*g,sin(theta)*g],
theta=0..2%Pi,t=0..Pi,scaling=constrained);

> Ax:=int(2*Pi*g*sqrt(dfA2+dgAr2),t=0..Pi);
AX:= -1t + Tr(S/Z) «/E FresnelS(ﬁ «/1—7) + COS(TI'Z) T

_> eval f(Ax);
9.274071142

> plot3d([cos(theta)*f,g,sin(theta)*f],
theta=0..2%Pi,t=0..Pi,scaling=constrained);




> Ay:=int(2*Pi*f*sqrt(dfA2+dgA2),t=0..Pi);
Ay = /% «/E FresnelC(«/E «/;) - sin(nz) '

> eval f(Ay);

12.51817355



